KV BSF JALALABAD
Holidays  Homework
Class - X
Subject - English
1. Write message of these poems --dust of snow ,fire and ice .
2. Write moral education of the stories:-, A triumph of surgery.
3. What is the central idea of the lesson: a letter to God.
4. Write the aim of the  lesson Nelson Mandela -long Walk to Freedom.
5.  Prepare your Editorial colum for a prestigious daily news paper. Word limit upto100.
6. Write a debate against and favour "Woman empowerment in India"
7. Prepare a Thesaurus of 100 words from your prescribed English book.
8. Write and learn questions & answers of A triumph of surgery & A Letter to God
9. Complete your portfolio file in all respects.

Subject – Social Science
1. Make a project file on Consumer Awareness or any Social Issues, as given by CBSE
2. Complete map work of class 10, as given by CBSE in classwork notebook
3. Make a model on any topic from your book
4. Make 20 MCQ from every chapter that has been completed.
Subject – Science
Physics (All the work should be done in Class work notebook.)
1. Draw cases of image formation by Spherical lenses and Spherical mirrors
2. Write a report on phenomenons of light ( 1 page for each phenomenon with picture)- Refraction, Reflection, Dispersion, Scattering of light
3. Write a brief report on following scientists - Sir CV Raman and Snell
4. Draw the well labelled and colourful diagram of Structure of Eye.
Chemistry
Activity–1 : Acid and Base
Collect Atleast 20 sample of different substance are used in day to day life and check whether they are acidic and basic by using turmeric powder and  red onion as a natural indicator
To make the onion indicator cut one onion in to pieces and soaked in water for 24 hours boil and extract the onion juice. 
.ex.lemon juice ,soap solution,toilet cleaner,curd,tomato juice,eno,saving cream sol. ,baking soda etc.
	SAMPLES
	Colour with turmeric
	Colour with onion extract
	Nature acidic/basic

	
	
	
	



Act.2 Name the acid and base  (10 each )naturally occurring  in plant and animals .

Act-3 Make a model of heron fountain & share the video of its working.

Act-4  Complete and Balance the following equations
 1.CH4+ O2----------CO2+H2O
2.Al2(SO4)3+BaCl2------ a   +      b
3.KmnO4 +H2SO4+ FeSO4-------------MnSO4+Fe2(SO4)3+H2O
4.C2H4+ O2----------CO2+H2O
5.Sodium sulphate +Calsium Chloride-------   a    +        b
.
 Activity–5 solve the following work sheet and marks the questions which are not solved by you and discuss with your science teacher.

               


  Open the zip file and practice :- 

Activity 6:- Write the  in text and exercise question  answer in your note book 
of chapter 1.

Act-7Explore the ideas to participate in inspire award, NCSC and Science Exhibition.

Biology
Week-1
Topic- Life process      Sub topic- Nutrition in plant and animal
Reading- Read  topic
Writing-Frame10very short questions or one word answer/questions from  chapter
Diagram-practice diagram of  a) Human digestive system ( b) Nutrition in Amoeba
Learning- Learn NCERT book questions  of given topic and one line frame questions
Week -2
Topic-Life process    Sub -topic: respiratory system.
Activity-  Do activity to check the different taste by using tongue.
Reading - Read the topic thoroughly 
Writing/ learning-1) frame 10 one word/ line answer question from given topic. 
Activity-prepare list on different type of respiratory organ in different organisms
Drawing-practice/ Draw diagram of   human respiratory organ
Week -3
Topic- Life process    Sub topic- circulatory system
Reading-Read the topic 
Writing :Frame 5 one line questions
Learning- learning NCERT questions of giveb topic and one line frame questions
Drawing-practice the diagram of human heart and double circulatory syste
Week 4
Topic - life process        Sub-topic-Excretory system
Model- Draw well labelled diagram ofExcretory system
Reading: read topic
Writing /learning-frame five one line answer question and learn.
Week -5 
Topic- life process
 Reading: Read the chapter
Writing- Frame 10 one line and one cct base questions
  Learning-Learn NCERT book questions and one line frame questions
Project-  prepare project on artificial kidney

Subject - Hindi
1.निम्नलिखित विषयों पर 200 से 250 शब्दों में लेख लिखिए -
-आधुनिक भारतीय नारी              -चैन जानता मोबाइल
-विज्ञापनों की अनोखी दुनिया              -राजभाषा हिंदी
2.अपने क्षेत्र में फैली गंदगी के कारण उत्पन्न में डेंगू और मलेरिया जैसी भयंकर बीमारियों की रोकथाम हेतु स्वास्थ्य निरीक्षक को पत्र लिखिए।
3. नवभारत टाइम्स, नई दिल्ली के मुख्य संपादक को पत्र लिखिए जिसमें सड़क परिवहन के नियमों की उपेक्षा करने वालों के प्रति पुलिस के ढीले-ढाले रवैये पर चिंता प्रकट की गई हो ।
4.निम्नलिखित वाक्यों में प्रयुक्त पदों का परिचय लिखिए -
1.लंका के राजा रावण को राम ने बाण से मार दिया।
2.निर्धन मजदूर अनथक परिश्रम कर रहा है ।
3.देश का सर्वश्रेष्ठ खिलाड़ी कौन है ?
4.सरोवर में कमल-पुष्प खिल रहे हैं ।
5 अध्यापिका हिंदी पढ़ा रही है ।
6.नेताजी का चश्मा- पाठ का परिचय लिखकर प्रश्न-उत्तर करें ।
7.महात्मा सूरदास का परिचय लिखकर चारों पदों का भावार्थ लिखिए ।
8.बालगोबिन भगत - पाठ का परिचय लिखकर प्रश्न- उत्तर कीजिए।

Subject - Mathematics

Q.1.  Find the HCF of 96 and 404 by the prime factorisation method. Hence, find their LCM.
Q.2. Find the HCF and LCM of 6, 72 and 120, using the prime factorisation method.
Q.3.  Prove that √3 is irrational
Q. 4 . Show that 5 – √3 is irrational
Q.5. Find the zeroes of the quadratic polynomial  X² +  7X + 10, and verify the relationship between the zeroes and the coefficients.
Q.6.  Find the zeroes of the polynomial  X² – 3 and verify the relationship between the zeroes and the coefficients.
Q.7.  Find a quadratic polynomial, the sum and product of whose zeroes are   – 3 and 2, respectively.
Q.8. Two rails are represented by the equations  x + 2y – 4 = 0 and 
         2x + 4y – 12 = 0.   Represent this situation geometrically.
  ( Activity ) 
Fill in the puzzle so that every rows  across , every column down and every 3 by 3 box contain the numbers 1 to 9. 

	[image: ]




Subject – Computer
1. Define communication
2. Explain methods of communication (verbal, non-verbal and visual)
3. Pros and cons of verbal and non-verbal communication
      4. Complete all the exercise work of unit-1 (communication skill-II)
     5.  Make a chart by pasting pictures or by drawing with the help of internet on the topic of Artificial intelligence or  make a model on the topic of Artificial intelligence

Subject – Work Experience
1. Book Binding Activity – Bind 1 book and 1 notebook.
2. Locate thermal power plant in political map of India
3. Locate thermal power plant in political map of India
[bookmark: _GoBack]4. Connect 3 bulb holders and 3 switches.
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CBSE Previous Year Exams Questions Exam 2019-2020
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For 15 Years Exams Chapter-wise Question Bank

visit www.cbse.online or whatsapp at 8905629969

Chemical Reactions and Equations

1. OBJECTIVE QUESTIONS

A substance which oxidises itself and reduces other is
known as -

(a) oxidising agent (b) reducing agent

displace iron from iron sulphate, hence no reaction
will take place.

NO NEED TO PURCHASE ANY BOOKS

For session 2019-2020 free pdf will be available at
www.cbse.online for

(c) both of these (d) none of these 1. Previous 15 Years Exams Chapter-wise Question
Bank
Ans : (b) reducing agent 2. Previous Ten Years Exam Paper (Paper-wise).
3. 20 Model Paper (All Solved).

Which of the following reactions involves the
combination of two elements?

(a) Cal+ CO, > CaCO; (b) 4Na+ O, — 2Na,O
(¢) SO+50, = SOy (d)NH, + HCl - NH,CI

4. NCERT Solutions

All material will be solved and free pdf. It will be

provided by 30 September and will be updated regularly.

Ans : (b) 4Na+ O, » 2Na,0 6. A student added dilute HCI to a test tube containing
Except (b) all other reactions involve compounds. Zme gran.ules and made following observations :
(a) the zinc surface became dull and black
When hydrogen sulphide gas is passed through a blue (b) a gas evolved which burnt with a pop sound
solution of copper sulphate, a black precipitate of (¢) the solution remained colourless
copper sulphide is obtained and the sulphuric acid so . .
R . o (d) the solution becomes green in colour
formed remains in the solution. The reaction is an
example of- Ans : (b) a gas evolved which burnt with a pop sound
(a) a combination reaction
. . Zn + 2HCl — ZHCIQ + H2
(b) a displacement reaction Hvd b .
ydrogen gas burns with a pop sound.
(¢) a decomposition reaction
(d) a double decomposition reaction 7. A dilute solution of sodium carbonate was added
. ) to two test tubes - one containing dil HCI (a) and
Ans : (d) a double decomposition reaction the other containing dilute NaOH(b). The correct
CuSO,+ H,S — guks + H,S0, observation was-
(blue) (double dewmpo(sit?jn)) (a) a brown coloured gas liberated in test tube A
' o . (b) a brown coloured gas liberated in test tube B
Which of tbe following is a PhYSIC‘Cﬂ change? (c) a colourless gas liberated in test tube A
(a) Formation of curd from milk . .
o ) (d) a colourless gas liberated in test tube B
(b) Ripening of fruits
(c) Getting salt from sea water Ans : (c) a colourless gas liberated in test tube A
(d) Burning of wood Na,COj + 2HCI — 2NaCl + H,0 + CO,
Ans : (c) Getting salt from sea water Na,CO3;+ NaOH — no reaction
The 'changes, which can give ba'ck the reactants by 8. A balanced chemical equation is in accordance with-
physical means are called physical changes. Hence (a) Avogadro’s law
getting of salt from sea water is a physical change. . .
(b) law of multiple proportion
What happens when copper rod is dipped in iron (c) law of conservation of mass
sulphate solution? (d) law of gaseous volumes
(a) Copper displaces iron .
(b) Blue colour of copper sulphate solution is obtained Ans : (c) law of conservation of mass
(¢) No rez.mctlc.)n takes pla.ce 9. The equation
(d) Reaction is exothermic

Ans : (c) No reaction takes place

Iron is more reactive than copper, hence Cu will not

Download all GUIDE and Sample Paper pdfs from www.cbse.online or www.rava.org.in

Cu+ XHNO3 - Cu (N03)2 + yNOQ + 2H20
The values of x and y are-

(a) 3 and 5 (b) 8 and 6
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11.

12.

13.

14.

15.

16.
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(c) 4 and 2
Ans : (c) 4 and 2

(d) 7and 1

Zn + H,80,(dil) — ZnSO, + Hy 1

Above reaction is -

(a) decomposition reaction

(b
c

) single displacement reaction
(¢) combination reaction
)

(d) synthesis reaction

Ans : (b) single displacement reaction

The reaction in which two compounds exchange their
ions to form two new compounds is -

(a) a displacement reaction

(b
c

) a decomposition reaction
(¢) an isomerization reaction

(d) a double displacement reaction

Ans : (d) a double displacement reaction
A redox reaction is one in which-
(a) both the substance are reduced

(b) both the substance are oxidised
(¢) an acid is neutralised by the base
(

d) one substance is oxidised while the other is
reduced

Ans : (d) one substance is oxidised while the other is

reduced

When the gases sulphur dioxide and hydrogen
sulphide mix in the presence of water, the reaction is
SO+ 2H,S — 2H,0 + 3S. Here hydrogen sulphide is
acting as -

(a) an oxidising agent (b) a reducing agent

(¢) a dehydrating agent (d) a catalyst
Ans : (b) a reducing agent

Here H,S is oxidising in to H,O, hence behave as a
reducing agent.

CuO + H,; » H,0 + Cu, reaction is an example of -
(a) redox reaction (b) synthesis reaction

(¢) neutralisation

Ans

(d) analysis reaction

: (a) redox reaction

In the following equations :
Na,CO3;+ x HCl » 2NaCl 4+ CO,+ H,0, the value of

X is-

(a) 1 (b) 2
(c) 3 (d) 4
Ans: (b) 2

Na,CO;+ 2HCl — 2NaCl + CO,+ H,O

In the equation, NaOH + HNO; - NaNO;+ H,O
nitric acid is acting as-

(a) an oxidising agent (b) an acid

17,

18.

19.

20.

21

22.

23.
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(c) a nitrating agent (d) a dehydrating agent

Ans : (b) an acid

The reaction represents a neutralisation reaction in
which base (NaOH) reacts with an acid (HNOj) to
form salt (NaNOj;) and water (H,O).

F€203 + 2A1 —» A1203 + 2Fe
The above reaction is an example of a-
(a) combination reaction

(b) double displacement reaction
(¢) decomposition reaction
(d) displacement reaction

Ans : (d) displacement reaction

White silver chloride in sunlight turns to-
(a) grey (b) yellow
(¢) remain white (d) red

Ans : (a) grey

White silver chloride in sunlight turns to grey.

Black and white photography uses-
(a) decomposition of silver chloride

(b) decomposition of silver bromide
(¢) both
(d) none of these

Ans : (b) decomposition of silver bromide

When copper powder is heated it gets coated with-
(a) black copper oxide (b) yellow copper oxide

(c) red copper oxide (d) None of these

Ans : (a) black copper oxide

2Cu+ 0y —> 2Cu0

lack

Combination of phosphorus and oxygen is an example
of -
(a) oxidation (b) reduction

(¢) rancidity (d) None of these

Ans : (a) oxidation
4P —|— 302 > 2P203

(Oxidation)

4P =+ 502 — 2P205

(Oxidation)

To indicate the presence of gaseous reactant or
product, we use the symbol
(a) (Product)s or (Reactant)s

(b) (Product)? or (Reactant)?
(¢) (Product)! or (Reactant)y
(d) Both (a) and (b)

Ans : (d) Both (a) and (b)

The gaseous reactants and products in any chemical
reaction can be demonstrated using the symbol(g) or
¢T7.

When Ca(NOj), is heated, it gives CaO, NO,(g) and
Os(g). The correct number of moles of Ca(NOj),,
Ca0, NO,(g) and O,(g) are present in the reaction
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25.

26.
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are respectively
(a) 2,1,3,2
(c) 2,2,2,1

Ans: (b) 2,2, 4,1
Ca(NO3), on heating gives CaO, NO,(g) and O,(g).
The balanced chemical equation is as follows:

2Ca (NO;})Z —> 2Ca0 + 4N02(g) -+ Oz(g)

Hence, number of moles of reactant Ca(NO3),
and products CaO, NO,(g) and O,(g) are present 2,
2, 4 and 1 respectively.

(b) 2,2, 4,1
(d)1,2,4,1

Which of the following reaction is characterised by the
yellow colour of product?

(a) Zn(s)+H,SO, — ZnSO,+ H,

(b) Na2C03 + HZSO4 — NaQSO4 =+ H2O + COQ

(¢) 2Pb30; —>> 6PbO (s) + O (g)

(d) 2KCIO; ——> 2KCl1 4 30,(g)

Ans : (¢) 2Pb;0, — > 6PbO (s) + O,(g)
When red lead oxide (Pb30,) is heated, it gives yellow
colour of lead-oxide (PbO).
2Pb;0,4(s) ——> 6PbO (s) + O (g)
(Yellow)
Which one of the following involve a chemical reaction?
(a) Evaporation of water
(b) Storing on nitrogen gas under pressure
(¢) Keeping petrol in a China dish in open
(d) Heating magnesium wire in the presence of air at
high temperature

Ans : (d) Heating magnesium wire in the presence of
air at high temperature

Only statement (d) follows a chemical reaction.
Evaporation of water, storing of nitrogen gas under
pressure and keeping petrol in a China dish in open
does not involve a chemical reaction.

Heating magnesium wire in the presence of air at
high temperature involves a chemical reaction.

Mg (s) + Os(g) — 2MgO (s)

Ethane (CyHg) on complete combustion gave CO, and
water. It shows that the results are in accordance with
the law of conservation of mass. Then, the coefficient
of oxygen is equal to
(a) 3

(c) 2

Ans: (d) 7/2

Balanced chemical equation wrt law of conservation
of mass.

(b) 5/2
() 7/2

CQH(}“‘%OQ —— 2COQ+ 3HQO

The coefficient of CyHg is 1, % for O, 2 for
CO, and 3 for H,O.

A powdered salt (X) in a dry test tube was heated
that evolves brown fumes of nitrogen dioxide and a
yellow residue of lead oxide is also formed. The salt
(X) is

28.

29.

30.
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(c) (NH,),SO, (d) CaCO,

Ans : (b) Pb (N03)2
The salt (X) is Pb(NOj),. When it is heated, then it
evolves brown fumes of nitrogen dioxide and a yellow
residue of lead oxide is also formed.

2Pb (NO3), —>> 2PbO (s) + 4NO,(g) + O,(g)

Lead nitrate Lead oxide Nitrogen Oxygen

dioxide
A reddish brown coloured metal used in electric wires,
when powdered and heated strongly in an open China
dish, its colour turns black. When hydrogen gas is
passed over this black substances, it regain its original
colour. Based on this information, the metal and black
coloured substances are
(a) copper and copper nitrate
(b) silver and silver oxide
(¢) copper and copper oxide
(d) aluminium and aluminium oxide

Ans :

The reddish brown metal is copper that changes into
a black substance, which is found to be copper oxide.
The reaction taking place is:

2Cu(s) + O»(g) — 2CuO(s)

Copper Oxygen Copper (II)
(Reddish brown) oxide (black)

(¢) copper and copper oxide

(from air)

When dilute sulphuric acid is added to pieces of
iron sulphide, hydrogen sulphide gas is produced
and soluble ferrous sulphate is formed. The type of
chemical reaction involved is

(a) decomposition reaction

(b) combination reaction
(c) displacement reaction
(d) double displacement reaction

Ans : (d) double displacement reaction

The reactions in which two ionic compounds in the

solution react by exchange of their ions to form new

compounds are called double displacement reactions.
FeS (s) + dil.H,SO,(aq) — FeSO,(aq) + H.S(g)

ITron Sulphate Ferrous Hydrogen

sulphate acid sulphate sulphide

Following reaction is used for the preparation of
oxygen gas in the laboratory.
2KClO;(s) 2KCl1(s) + 304(9)

Heat
Catalyst
Which of the following statement (s) is (are) correct
about the reaction?

(a) Tt is a decomposition reaction and endothermic in
nature.
(b) Tt is a combination reaction.

(c¢) Tt is a decomposition reaction and accompanied
by the release of heat.

(d) Tt is a photochemical decomposition reaction and
exothermic in nature.

Ans: (a) It is a decomposition reaction and

endothermic in nature.

The given reaction is a decomposition reaction and
takes place on absorption of hear.
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A metal ‘M’ reacts with an acid according to the
equation.
M+H"— M3 +H,
Which of the following is correct for metal M ?
(a) Calcium (b) Aluminium
(¢) Barium (d) Potassium
Ans : (c) Barium
1. Balancing of H-atoms : Multiply H" on LHS by 2.

M+2H" — M*" +H,
2. Balancing charge : Multiply 2H" by 3 and M*" by
2 so that charge on each side is +6.
3. Re-balancing of H-atoms: Multiply H, on RHS by
3

M+ 6H" — 2M*" + 3H,
4. Balancing of M-atoms: Multiply M LHS by 2

2M+6H" —— 2M*" + 3H,
This is the required balanced equation and the metal
is aluminium (M).

FILL IN THE BLANK

When calcium carbonate is heated, it decomposes to
from .......... and .......... gas.

Ans : calcium oxide, carbon dioxide

Precipitation reactions produce .......... salts.

Ans : insoluble

Electrolysis of water is a
reaction.

Ans : electric

Reactions in which energy is absorbed are known as
.......... reactions.

Ans : endothermic

The new substances produce in a reaction are called

Ans : products

The reaction of sodium sulphate and barium chloride
results in the formation of white precipitate of ..........

Ans : barium sulphate

Two different atoms or groups of atoms (ions) are
exchanged in .......... reactions.

Ans : double displacement

Precipitation reactions produce ......... salts.

Ans : insoluble

Reduction is the .......... of oxygen or gain of hydrogen.

Ans : loss

10.

11.

12.

13.

14.

15.

16.
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The addition of oxygen to a substance is called ..........

Ans : oxidation

The digestion of food in the body is an example of
......... reaction.

Ans : decomposition reaction

The addition of oxygen to a substance is called ..........

Ans : oxidation

When calcium carbonate is heated, it decomposes to
give ...oeee. and ..........

: CaO (s) and CO,(g)

Ina ... reaction two or more substances combine
to form a new single substance.

Ans : combination

Reactions in which heat is given out along with the
products are called .......... reactions.

Ans : exothermic

When an element displaces another element from its
compound, a .......... reaction occurs.

Ans : displacement

TRUE/FALSE

A complete chemical equation represents the reactants,
products and their physical states symbolically.

Ans : True

The reaction of nitrogen and hydrogen gives ammonia.
This is an example of a decomposition reaction.

Ans : False

A magnesium ribben burns with a dazzling flame
in air (oxygen) and changes into a white substance,
magnesium oxide.

Ans : True

Rusting is a double decomposition reaction.

Ans : False

A chemical cannot be reversed.

Ans : True

The number of atoms of each element is conserved in
any chemical reaction.

Ans : True

Oxidation is the loss of electrons from a substance.

Ans : True
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8. The term ‘aqueous’ represents water as solvent.

Ans : True

9. Rusting of iron and rancidity are caused due to
oxidation.

Ans : True

10. Reduction is the gain of electrons by a substance.

Ans : True

11. The formation of Cu and H,O the reaction of copper
oxide is an example of a redox reaction.

Ans : True

12.  Curdling of milk is a physical change.
Ans : False

13. The reaction between nitrogen and hydrogen to give
ammonia is an example of a combination reaction.

Ans : True

14. For word-equations, we do no need to know the
formulae for the chemicals involved but in symbol-
equations we do.

Ans : True

15. Action of heat on ferrous sulphate is an example of
decomposition reaction.

Ans : True

4. MATCHING QUESTIONS

DIRECTION : Each question contains statements given in
two columns which have to be matched. Statements (A, B, C,
D) in column I have to be matched with statements (p, q, r, s)
in column II.

1
Column I
(A) C+0,~ CO,
(B) AgBr feht Ag+ Br
(©) Zn + CuSO,4 —~ ZnSO,+ Cu
(D) |CH,CH,0H —““> CH;CHO + H,
Column IT

(p) Displacement

(a) Combination

() Decomposition

(s) Oxidation

Ans : A-q, B-r, C-p, D-s

Download all GUIDE and Sample Paper pdfs from www.cbse.online or www.rava.org.in
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2.
Column A
1. Ag,S (Silver sulphide)
2. | FeyO3 - 2H,O (Hydrated ferric
oxide)
3. BHT (Butylated hydroxy-
toluene)
4. CuCO; + Cu(OH) (Basic
copper carbonate)

Column B
(a) Green coating on copper.
(b) Black coating on silver.
(c) Reddish brown coating on
iron.
(d) Synthetic antioxidant.

: 1-(b), 2-(c), 3-(d), 4-(a)

5. MULTIPLE MATCHING

DIRECTION : Following question has four statements (A,
B, C and D) given in Column I and four statements (p, q, r
and s) in Column II. Any given statement in Column I can
have correct matching with one or more statement(s) given
in Column II. Match the entries in column I with entries in
column II.

1. Column II gives type of reaction mention in column I,
match them correctly.

Column I Column IT
(A) KClO; —— (p) 0.
(B) ZnCO; —— (a) H.0
© ]  H,00,—— (r) CO,
(D) C,H, —— (s) ZnO
A B C D
(a) S, T q, T q, T
(b) q,r s, T r,p
(c) q.r S,p D, 8 r
(d) r q s p
Ans: (a) A-p, B-s, 1, C-q, 1, D-q, r
2.
Column 1 Column IT
(A) | Zn(s) + CuSO4(aq) — (p) Reduction
ZnS0,(aq) + Cu(s) reaction
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6.

Column I Column II
(B) Mg — Mg*" + 2e” (q) | displacement
reaction

(€) Sn** +2e” — Sn** (r)

Redox reaction

(D) C+ 0, — CO, (s) Oxidation
reaction

A B C D

(a) r, q S

(b)y| r, s p s

(¢) s p, r q r,q

d] sp r q D, $

Column I Column IT

(Compound) (Oxidation state)

(A) [Fe(CO)s| (p) +2

(B) FeO, Fe,04 (a) +6

(©) OF, (r) 0

(D) K,MnO, (s) +3
A B C D

(@) r D, D q

b)) »p q s r

(©] a s p r

d] r q s p

ASSERTION AND REASON

DIRECTION : Each of these questions contains an Assertion
followed by Reason. Read them carefully and answer the
question on the basis of following options. You have to select
the one that best describes the two statements.
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(a) If both Assertion and Reason are correct and
Reason is the correct explanation of Assertion.

(b) If both Assertion and Reason are correct, but

Reason is not the correct explanation of Assertion.
(c) If Assertion is correct but Reason is incorrect.
(d) If Assertion is incorrect but Reason is correct

Assertion : Stannous chloride is a powerful oxidising
agent which oxidises mercuric chloride to mercury.

Reason : Stannous chloride gives grey precipitate with
mercuric chloride, but stannic chloride does not do so.

Ans : (c) If Assertion is correct but Reason is incorrect.

Assertion : Corrosion of iron is commonly known as
rusting.
Reason : Corrosion of iron occurs in presence of water
and air.

Ans : (b) If both Assertion and Reason are correct,
but Reason is not the correct explanation of
Assertion.

Corrosion occurs due to oxidation of iron.

WWW.CBSE.ONLINE

Assertion : In a reaction.

Zn(s) + CuSO4(aq) — ZnSO, (aq) + Cu(s)

Zn is a reductant but itself get oxidized.

Reason : In a redox reaction, oxidant is reduced by
accepting electrons and reductant is oxidized by losing
electrons.

Ans : (a) If both Assertion and Reason are correct and
Reason is the correct explanation of Assertion.

Assertion : A reducing agent is a substance which can
either accept electron.

Reason : A substance which helps in oxidation is
known as reducing agent.

Ans : (d) If Assertion is incorrect but Reason is correct

A reducing agent is a substance which oxidizes itself
but reduces others i.e., looses electrons.

Assertion : The balancing of chemical equations is
based on law of conservation of mass.

Reason : Total mass of reactants is equal to total mass
of products.

Ans : (a) If both Assertion and Reason are correct and
Reason is the correct explanation of Assertion.

Assertion (A) : Carbon dioxide turns lime water milky.
Reason (R) : Carbon dioxide sullies the water.

Ans : (c) Assertion (A) is true but reason (R) is false.

Carbon dioxide reacts with lime water (calcium
hydroxide) to form milky precipitate of calcium
carbonate.

Assertion (A) : A chemical reaction becomes faster at
higher temperatures.

Reason (R) : At higher temperatures, molecular
motion becomes more rapid.

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of
assertion (A).

Both A and R are true and R is the correct explanation
of (A). A chemical reaction becomes faster at higher
temperatures because at high temperature, the
movement of particles are greater.

Assertion (A) : Sodium metal is stored under Kerosene.
Reason (R) : Metallic sodium melts when exposed to
air.

Ans : (c) Assertion (A) is true but reason (R) is false.

Sodium is a very reactive metal. It is kept in kerosene
to prevent it from coming in contact with oxygen and
moisture present. If this happens, it will react with the
moisture present in air and form sodium hydroxide.
This is a strongly exothermic reaction, and lot of heat
is generated.

Assertion (A) : To dilute sulphuric acid, acid is added
to water and not water to acid.
Reason (R) : Specific heat of water is quite large.

Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of
assertion (A).
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10.

11.

12.

13.

14.

15.

16.
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The mixing of water to an acid is highly exothermic in
nature. If water is added to an acid it produces very
large amount of heat which can break the container
and some times even causes burnings. So it is advised
to add concentrated acid to water very slow manner.

Assertion(A) : Calcium corbonate when heated gives
calcium oxide and water.

Reason (R) On heating calcium
decomposition reaction takes place.

Ans : (d) A is false but R is true.

carbonate,

Assertion(A) : Brown fumes are produced when lead
nitrate is heated.

Reason (R) : Nitrogen dioxide gas is produced as a
by product due to the decomposition of lead nitrate.

Ans : (a) Both A and R are true and R is the correct
explanation of A.

Assertion(A) : White silver chloride turns grey in
sunlight.

Reason (R) : Decomposition of silver chloride in
presence of sunlight takes place to form silver metal
and chlorine gas.

Ans : (a) Both A and R are true and R is the correct
explanation of A.

Assertion(A) : Pungent smelling gas is produced when
sulphur burns in air.
Reason (R) : Sulphur trioxide is formed on reaction of
sulphur with oxygen.

Ans : (c) A is true but R is false.

Assertion(A) : In a reaction of copper with oxygen,
copper serves as a reducing agent.

Reason (R) : The substance which gains oxygen in a
chemical reaction is a reducing agents.

Ans : (a) Both A and R are true and R is the correct
explanation of A.

Assertion : The following chemical equation,
2CHj + £ 0, — 4CO, + 3H,0

is a balanced chemical equation.

Reason : In a balanced chemical equation, the total
number of atoms of each element may or may not
equal on both side of the equation.

Ans : (e) Both Assertion and Reason are false.

Both Assertion and Reason are false. In a balanced
chemical equation, the total number of atoms of each
element are equal on both sides of the equation.

The correct balanced chemical equation is,
2CQH6 + 702 — 4002 + 6H20

Assertion : Fe, O34+ 2A1 — Al, O3+ 2Fe

The above chemical equation is an example of
displacement reaction.

Reason : Aluminium being more reactive than iron,
displaces Fe from its oxide.

Ans : (a) If both Assertion and Reason are true and

17,

18.

19.

WWW.CBSE.ONLINE

Reason is the correct explanation of Assertion.

Fe,O3+ 2A1 — Al,O3+2Fe is a displacement
reaction, Here, a highly reactive element (Al) displaces
Fe from Fe,Os.

Assertion : In the following chemical equation,

CuO(s) + Zn(s) — ZnO(s) + Cu(s)
Zinc is getting oxidised and copper oxide is getting
reduced.
Reason : The process in which oxygen is added to a
substance is called oxidation whereas the process in
which oxygen is removed from a substance is called
reduction.

Ans : (a) If both Assertion and Reason are true and
Reason is the correct explanation of Assertion.

Because the reaction involves both oxidation and
reduction in which, CuO is reduced to Cu and Zn is
oxidised to ZnO.

Assertion : Quicklime reacts vigorously with water
releasing a large amount of heat.

Reason : The above chemical reaction is an exothermic
reaction.

Ans : (a) If both Assertion and Reason are true and
Reason is the correct explanation of Assertion.

Because in exothermic reactions, hear is released along
with the formation of products.

Assertion Photosynthesis is considered as an
endothermic reaction.
Reason : Energy gets released in the process of

photosynthesis.
Ans : (c) If Assertion is true, but Reason is false.

Assertion is true but Reason is false. Photosynthesis is
considered as an endothermic reaction because energy
in the form of sunlight is absorbed by the green plants.
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